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40 eventi
in 82 fb-1

SJ/ψ π0 = 0.05 ± 0.49(stat) ± 0.16(syst)

CJ/ψ π0 = 0.38 ± 0.41(stat) ± 0.09(syst)

PRL91, 061802 (2003)

������
��������
���

103 eventi
in 140 fb-1



��������	�
�����
����� ���� �����������
�� �;

	�
�� ������� ��
��

2

2

2
1

1

1

2

λ
λ

λ
λ

+

−
=

+
ℑ= CS

$��������-
���������N �������!��#OP�N ��!��
 �
�!��#���
�#���������
�#���#8
������



��������	�
�����
����� ���� �����������
�� �5

: �� �� $%&�'����0→��� &�!!'



��������	�
�����
����� ���� �����������
�� �.

: �!��!����
���!
�����" ���

7 ���-������ Q�
�-�R�

2 $3�

2 +31η/4����β

7 
 �� 
 � ���
 � �������
� � 
 
 � �� ��� � � � �
����
 � �� �
 � �����
� ��� ����� ������ � ��
� � ������

7 ����!��!����
���!
�����" �����

!���4��� φK0,

����������0����
�� �-
�/���#
�

���
-������������4

7 ��#8��N �������� �
� ��-
�����
����β�// #8��� S�!�//������!
�
����β ����: +�
����T�!���4�1
�4���
���#��!
�!�����!�



��������	�
�����
����� ���� �����������
�� �=

	�� ��
����������%	��=����;�;���&���6'

3.5 σ3.5 σ3.5 σ3.5 σ

��������������� ������ �� ���!	���"���	��#�!��$	%	 �

$%�!���
��

$%��
��

$%�!���
��

�4�� I��4�; I��4��B�4�6 I��4�5 I��4�����→ηO*�

�4�5 I��4�; I��4��1�4�� I��4�; I��4��&'(�)���→*B*1*+�

�4�� I��4�= I��4�5�'(*+�,�'(-'�&'('*�'�→→→→φ φ φ φ .�

$+: �!�

�'(��



��������	�
�����
����� ���� �����������
�� ��

BABAR

BABAR
B0 φKL

B0 φKS

asymmetry

asymmetry

tag0B

tag0B

tag0B

tag0B

�
�
���� φ*+; �� φ*��&� �-�'

7 
���: +����� �
�

U�B����β�������� φKS
U�1����β�������� φKL

)syst(10.0)stat(33.010.0

)syst()stat(34.047.0

0

0
08.0
06.0

±±+=

±+= +
−

K

K

C

S

φ

φ

L=108fb-1

B0 φKS
70±9 eventi

BABAR B0 φKL

52±16 event i

������ ��%	%������ �/�� ����0(1�σσσσ ��������



��������	�
�����
����� ���� �����������
�� ��

�
�
� �� *B*1*+H��B *B*+*+

7 ?�#
!�������
�6�#������� *B*1*+

&��� !��!���-������ φ*�'H

7 +����� �
���
�#8�����	������
!�������
����
�/�
������$%1!���
����

���
-�����������
������!����������
�
!����������J������%	?+*���������&����'K�

)(

)(2
00

00

KKKB

KKKB
f SS

even −+

++

→Γ
→Γ=

B0 K+K-KS

201±16 eventi

B+ K+KSKS

122±14 eventi

BABAR

L=111fb-1



��������	�
�����
����� ���� �����������
�� ��

$%&�' #���� ***+

7 ?�������
����� V�-�� �
2 ��&�� *B*1*�'3

&�64.±�4�±�4;'×��1;

2 ��&�B *B*+*+'3
&��45±�4�±�4�'×��1;

2 V�-��3�4=.±�4��±�4��
2 $��/���
���
�#8��!
��


!�����0 ������
�"��
��H

7 M  ��!�� +U2����β;

BABAR tag0B

tag0B

asymmetry

)syst(09.0)stat(19.010.0

)()syst(04.0)stat(25.056.0

0

0
0

17.0

±±−=

±±−=

−+

−+
+
−

S

S

KKK

evenKKK

C

fS



��������	�
�����
����� ���� �����������
�� �6

�
�
� �� π�*+

7 : �� �
�+U����β ����: +H

7 �
�!���������!���*+  �
�
�����
!�������
������-����#��!������
2 � ��#�������C19�!���0�
�1����H

BABAR

BABAR

L=113 fb-1

122±16 events

tag0B

tag0B

asymmetry

)syst(10.0)stat(40.0

)syst(11.0)stat(48.0

27.0
28.0

38.0
47.0

00

00

±=

±=
+
−

+
−

π

π

S

S

K

K

C

S



��������	�
�����
����� ���� �����������
�� ��

�
�
� �� *,γ (*,→ *+π�'

7M  
������/1�
""��"�"�
����
��O���#��W�!���/�����
7: �� �
�+U� &�� �)� 0����β'�����: +
7%��S�� �-
�/���#
������00��
 � ���
�������
���!���
!�#
!�� �����
!� �
�!
�
����#��W���N ��!��+≠�
7� �#��#
���#���� ������-����#����� ����
��� π�*+�
-
��!
�
��������
� 0�����
�
�����#���

2�� ( )ψ*+ ���B πB*+���"���
�!��( )ψ ��πB

2� ��
�� �!�
���

����������

���±����-���� 	��
��
�± 
��������� ± 
���������

� ���
�
��± 
��������� ± 
�
�������



��� ���� � 	�
 � ����
����� ���� ��������� ��
�� ��

�� /�&=.�'*+

π+π−

7 +� !����#�����J8��1�8)�����=��&����'K � ��
���� �� �
�!���
� �������#
�
���V�&=.�' /
-����#������
���NN4

7 ? �#
!�� ����������00������������" ����0 ��� !
���#8��
2 �� #����������H�0   � 
�0����!����
� �����$
00�0������������

���������
����
!��"����" ��4

7 ���N �����#
������!�#
!�� ������ �� �
� β2sin0
0

−≅
SKf

S

� �
�����M  
����10�!9��
+���
"��
�� ��? 
�����

�����������! ����

#�����0 ����!
�

ρ� ��/�&�65�'

BABAR
L=111fb-1

94±14(stat)±6(syst) evts

Total
Continuum
All bgk.



��� ���� � 	�
 � ����
����� ���� ��������� ��
�� �;

$% /����/��� /�&=.�'*+

7 $��������#9�#8�#X��/���
!�������������!��� 
��
�
πBπ1 #��������1Y �"����
���
��-����#
�

7 	 �� ��
���!���/���$% �

tag0B

tag0B

asymmetry

BABAR

)syst(12.0)stat(36.027.0

)syst(10.0)stat(62.1

0
0

0
0

56.0
51.0

±±=

±−= +
−

S

S

Kf

Kf

C

S

Total
Continuum
All bgk.

L=111fb-1
BABAR Total

Continuum
All bgk.



��� ���� � 	�
 � ����
����� ���� ��������� ��
�� �5

	 �
�� � ��!�

�
�
����������-�4�������������



��� ���� � 	�
 � ����
����� ���� ��������� ��
�� �.

$� 
 $�Z +�� 
 �

7 ����β � �� �
���#������#�����������#8
�� ����
7 +�"���!��β !
 ( )ψ*,�&*,→ *+π�'�
7 : ������ �� ���� �-�
7 	 �� ��
���#�������������������β ����#
�
��

$
0�00����������� � !�� ��
���!
�����" ����
7 $����
������0�����##�������!�

2 : �� �
�!������� �������→ φ*+

2 : �!�
�!������ �� �������#8
�� ����


